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404 tax return not found...



  

http://top500.org/

1. titanormous  101 Eflop/s
2. manticore     97 Eflop/s
3. night hawk    85 Eflop/s
4. early dawn    56
5. red cliff     32
6. late dusk     10
7....

24h later...

Run LINPACK
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time = 24h

matrix size
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Step 1: A x=λ x
Step 2: T b x=λ x ∧ V bT b=AV b
Step 3: T x=λ x ∧ V T=AV

A=U ΣV T

Bb=U bΣV b

B=U ' ΣV '



  

Step 1: A x=λ x
Step 2: T b x=λ x ∧ V bT b=AV b
Step 3: T x=λ x ∧ V T=AV
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flop/s

tile size
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DGEMM

DSSRFB

LAPACK kernelLAPACK kernel

PLASMA kernelPLASMA kernel



  

C←βC+α A⋅B
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m+n+k≤R

2mnk
2mn k+(mn+mk+n k )Best instruction schedule:Best instruction schedule:
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